Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering - SEMESTER-I11 « EXAMINATION - WINTER 2013

Subject Code: 3331301 Date: 28-11-2013
Subject Name: Environmental Science
Time: 02:30 pm - 05:00 pm Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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(i)Write unit of the following parameters:
(1) Turbidity (2) Acidity (3) Chloride
(i) Define the following terms with its full forms :
(1) Molal solution (2) Normal solution (3) B.O.D.
(4) Secondary Standards.
What is the Molecular weight and Equivalent Weight of the Calcium ion
(Ca*?) and Calcium Carbonate (CaCO3)?

How many moles of H,SO, is required to form 65 gram CaSO,4 from CaCO3?
Explain Lambert’s Law and Beers Law of colorimetry.

OR
Write short note on “Expression of Result”.

Give classification of Hardness.
What is the significance of a high sulfate concentration in water supplies and
in waste water disposal?
OR
Write statement of the following laws:
(i) Boyel’s law (ii) Henry ’s law (iii) Generalized gas law
Explain procedure for preparation of 0.1 M CaCOj3 Standard solution.

What is Calibration of Instrument? What is its importance?
How quantitative measures are important in the field of Environmental
Engineering?
OR
(i) Which factor affecting the solubility of Oxygen in waters?
(if) Why we are taking five day B.O.D.?
Describe the procedure for determination of C.O.D.

Write application of “C.O. D.” and “D.O.”.
Explain colorimetric method of pH determination.
OR
What is the application of chlorine data in environmental engineering field?
Explain the significance of a high fluoride level in water supplies.
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